
https://www.pass4itsure.com/h35-660.html
2024 Latest pass4itsure H35-660 PDF and VCE dumps Download

 

 

 

H35-660Q&As

HCIA-5G V2.0

Pass Huawei H35-660 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/h35-660.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

 

 

H35-660 PDF Dumps | H35-660 Study Guide | H35-660 Braindumps                                1 / 3

https://www.pass4itsure.com/h35-660.html
https://www.pass4itsure.com/h35-660.html
https://www.pass4itsure.com/h35-660.html


https://www.pass4itsure.com/h35-660.html
2024 Latest pass4itsure H35-660 PDF and VCE dumps Download

QUESTION 1

Which of the following is the maximum round trip time (RTT) of 5G -V2X? 

A. 10ms 

B. 5ms 

C. 20ms . 

D. 50ms 

Correct Answer: C 

 

QUESTION 2

Which of the following has the highest requirement for the network bandwidth in B - Scan? 

A. Ultrasonic imaging 

B. Operation controlc. 

C. Real-time call 

D. Communication between doctors and patients 

Correct Answer: A 

 

QUESTION 3

Internet of vehicles (IOV), requires coordination of network intelligence from vehicle-mounted information service to
intelligent transportation. 

A. True . 

B. False 

Correct Answer: A 

 

QUESTION 4

Which of the fowling is a solution for 5G to switch uplink transmission to the sub -3 GHz low frequency band. Effectively
compensating for insufficient uplink coverage of the C - Band? _SC 

A. UL and DL decoupling 

B. Carrier aggregation 

C. Duplex technology 
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D. Multiple access technique 

Correct Answer: A 

 

QUESTION 5

Which of the following NSA networking statements are correct? _MC 

A. Capable of provisioning new services such as URLLC 

B. LOW Investment in the initial phase of 5G deployment 

C. Requiring continuous coverage provided by the 5G base solutions D. Deployment based on legacy 4G networks 

Correct Answer: BD 
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